coinbase

Transaction report for Siva Srinivasa Pasam

You can use this transaction report to inform your likely tax obligations. For US customers, Sells, Converts, and Rewards Income, and Coinbase Earn transactions are taxable events. For final tax obligations, please consult your tax advisor.

Date range	Filter	Customer
From: 2012-01-01T00:00:00Z	Type: all	sivasrinivaspasam@gmail.com
To: 2021-03-31T01:53:01Z	Asset: all	5a333583e19bd80168be6981

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2017-12-15T03:04:53Z	Buy	ВТС	0.00833496	17637.76	\$147.01	\$150.00	Bought 0.00833496 BTC for \$150.00 USD
2017-12-16T15:51:48Z	Buy	ВТС	0.07757698	19051.79	\$1,477.98	\$1,500.00	Bought 0.07757698 BTC for \$1,500.00 USD
2018-01-05T18:31:55Z	Sell	ВТС	0.0859119	16427.53	\$1,411.32	\$1,390.29	Sold 0.0859119 BTC for \$1,390.29 USD
2018-03- 09T16:08:40Z	Buy	втс	0.47821452	9093.47	\$4,348.63	\$4,413.42	Bought 0.47821452 BTC for \$4,413.42 USD
2018-04-25T06:31:59Z	Sell	втс	0.47821456	9387.82	\$4,489.39	\$4,422.50	Sold 0.47821456 BTC for \$4,422.50 USD
2021-01-07T06:11:58Z	Buy	ВТС	0.03926511	37641.05	\$1,477.98	\$1,500.00	Bought 0.03926511 BTC for \$1,500.00 USD
2021-01-11T19:36:09Z	Sell	ВТС	0.06795114	31640.82	\$2,150.03	\$2,117.99	Sold 0.06795114 BTC for \$2,117.99 USD
2018-06-25T15:03:33Z	Buy	ВСН	2.57740996	764.58	\$1,970.64	\$2,000.00	Bought 2.57740996 BCH for \$2,000.00 USD
2018-06-28T17:08:08Z	Sell	ВСН	2.57740996	692.02	\$1,783.63	\$1,757.05	Sold 2.57740996 BCH for \$1,757.05 USD

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2018-06- 30T03:04:06Z	Buy	ВСН	1.03932673	758.43	\$788.26	\$800.00	Bought 1.03932673 BCH for \$800.00 USD
2018-07-16T22:24:52Z	Buy	ВСН	0.43537949	801.99	\$349.17	\$354.37	Bought 0.43537949 BCH for \$354.37 USD
2018-08-22T18:06:13Z	Sell	ВСН	1.47470622	517.65	\$763.38	\$752.01	Sold 1.47470622 BCH for \$752.01 USD
2017-12-15T03:12:54Z	Buy	ETH	0.22197057	662.30	\$147.01	\$150.00	Bought 0.22197057 ETH for \$150.00 USD
2017-12-16T15:51:27Z	Buy	ETH	2.14286507	689.72	\$1,477.98	\$1,500.00	Bought 2.14286507 ETH for \$1,500.00 USD
2018-01-02T08:06:19Z	Sell	ETH	2.3648356	844.82	\$1,997.85	\$1,968.08	Sold 2.3648356 ETH for \$1,968.08 USD
2018-01- 07T04:04:44Z	Buy	ETH	3.14017302	1053.78	\$3,309.06	\$3,358.37	Bought 3.14017302 ETH for \$3,358.37 USD
2018-01-14T00:26:20Z	Sell	ETH	3.14017306	1365.13	\$4,286.75	\$4,222.88	Sold 3.14017306 ETH for \$4,222.88 USD
2018-06-25T15:04:17Z	Buy	ETH	3.15517457	468.43	\$1,477.98	\$1,500.00	Bought 3.15517457 ETH for \$1,500.00 USD
2018-06-28T17:09:10Z	Sell	ETH	3.15517457	432.73	\$1,365.33	\$1,344.99	Sold 3.15517457 ETH for \$1,344.99 USD
2018-06- 30T03:03:47Z	Buy	ETH	1.74343894	452.13	\$788.26	\$800.00	Bought 1.74343894 ETH for \$800.00 USD
2018-08-22T18:06:30Z	ː Sell	ETH	1.74343894	273.63	\$477.05	\$469.94	Sold 1.74343894 ETH for \$469.94 USD
2017-12-15T03:11:34Z	Buy	LTC	0.73467695	268.16	\$197.01	\$200.00	Bought 0.73467695 LTC for \$200.00 USD

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2017-12-16T15:50:16Z	Buy	LTC	16.2854377	302.52	\$4,926.59	\$5,000.00	Bought 16.2854377 LTC for \$5,000.00 USD
2017-12-18T23:17:19Z	Buy	LTC	4.09809692	360.65	\$1,477.98	\$1,500.00	Bought 4.09809692 LTC for \$1,500.00 USD
2018-01-14T00:35:15Z	Buy	LTC	15.82879303	262.87	\$4,160.88	\$4,222.88	Bought 15.82879303 LTC for \$4,222.88 USD
2018-02-01T23:00:46Z	Z Sell	LTC	28.92158635	138.30	\$4,000.00	\$3,940.40	Sold 28.92158635 LTC for \$3,940.40 USD
2018-02- 02T06:40:23Z	Sell	LTC	8.02541825	121.00	\$971.09	\$956.62	Sold 8.02541825 LTC for \$956.62 USD
2018-02-03T16:00:16Z	Buy	LTC	0.00693086	145.73	\$1.01	\$2.00	Bought 0.00693086 LTC for \$2.00 USD
2018-02-03T19:10:28Z	Buy	LTC	30.23470088	159.52	\$4,823.15	\$4,895.02	Bought 30.23470088 LTC for \$4,895.02 USD
2018-02-07T17:11:11Z	Sell	LTC	30.24163174	148.15	\$4,480.17	\$4,413.42	Sold 30.24163174 LTC for \$4,413.42 USD
2018-06-25T15:04:44Z	Buy	LTC	10.96554087	82.89	\$908.96	\$922.50	Bought 10.96554087 LTC for \$922.50 USD
2018-06-28T17:08:40Z	Sell	LTC	10.96554087	78.90	\$865.22	\$852.33	Sold 10.96554087 LTC for \$852.33 USD
2021-01-07T06:10:22Z	Buy	XLM	4068.11351	0.363300	\$1,477.98	\$1,500.00	Bought 4,068.11351 XLM for \$1,500.00 USD
2021-01-07T23:09:35Z	Coinbase Earn	XLM	6.5359264	0.310000	\$2.03	\$2.03	Received 6.5359264 XLM from Coinbase Earn
2021-01-07T23:10:29Z	Coinbase Earn	XLM	6.5541107	0.310000	\$2.03	\$2.03	Received 6.5541107 XLM from Coinbase Earn

Timestamp	Transaction Type	Asset	Quantity Transacted	USD Spot Price at Transaction	Subtotal	Total (inclusive of fees)	Notes
2021-01-07T23:11:12Z	Coinbase Earn	XLM	6.5541107	0.310000	\$2.03	\$2.03	Received 6.5541107 XLM from Coinbase Earn
2021-01-07T23:12:30Z	Coinbase Earn	XLM	6.6096693	0.310000	\$2.05	\$2.05	Received 6.6096693 XLM from Coinbase Earn
2021-01-07T23:17:10Z	Coinbase Earn	XLM	6.5240084	0.310000	\$2.02	\$2.02	Received 6.5240084 XLM from Coinbase Earn
2021-01-07T23:49:38Z	Coinbase Earn	XLM	32.0642311	0.310000	\$9.94	\$9.94	Received 32.0642311 XLM from Coinbase Earn
2021-01-11T17:33:55Z	Convert	XLM	4132.9555666	0.230000	\$922.38	\$932.98	Converted 4,132.9555666 XLM to 0.02868603 BTC
2021-01-11T19:51:22Z	Coinbase Earn	GRT	3.84615385	0.260000	\$1.00	\$1.00	Received 3.84615385 GRT from Coinbase Earn
2021-01-11T19:52:24Z	Coinbase Earn	GRT	3.8595137	0.260000	\$1.00	\$1.00	Received 3.8595137 GRT from Coinbase Earn
2021-01-11T19:53:48Z	Coinbase Earn	GRT	3.81825124	0.260000	\$0.99	\$0.99	Received 3.81825124 GRT from Coinbase Earn